far & 292 § F96 3 Ufos A YAs I8 I3 3 Ufow Jerfest § fimis 578 U |

- 120
B AT 2 uie

= [+]

OMR #A<Y Hie &9 3% 399

Hte=9 T IA3YT (fqur a9a IR feg TA3™HT =9)

Jorfest

10.
11.

12.

Sriteeg for UAsa (Fa8<e) § 6% 3 ol U8er AT 39 GRS fodds Aee 28 Windr 996 § odi a9 Aenl I8 13,
J| Ses9 WuAas I Jigd (OMR) Ae'S Hic o 43 39 3 HJehw i3 famrr J, ff8 1 3 9 oo mefys safimd §
& 33 A I

for U @ 58 &8 OMR Hie feu A3 80 § 396 &¢ a2 &I8 7 a8 778 unrfée e & =93 31 fimrdt A =
fom 39 O < =93 g & wifamr &dt 3

Srifeed foR & 1R YZ< B8 AR I, Adg QuUIN3 3T I1dt Areardt 183, wtar A vt I

I3 Sriteeg & 120 fifet R9 120 yrs 596 I6 e waddfsa/s33dte GHiesat @ figt § OMR Hie @ A A=t
3 H'Ix SJ6 Bet 40 fie <0 &3 Av=dn

YAs-U39 YA (Fa8<) © 52 US I

7 Ofieeg § Yrs-U3a’ & yAsa (Fa8<) 88 & wriamr &3t A<t 3, 3F 8% § uRsd (Fase) © dfent & A9
IS T J fa Ufew & et udt 3, S 7ot 80 9o w3 38 & Uer udt ot 91 Ade Yie-U39 uAsd (Fa8e) oo
WiAdt 38 & I3 I 3 Gieeg § 393 ’ord foaas Aee © fimis ffg fonr@e ardter 3 w3 €F B3t & &<t uRsd
(FIBe) Yyu3 FIa! grdiet 3, = fx ufast i3t ardt

Aad fan Ir9T o< Yis-U3d UAsS (Fadc) Adt a3t Ael I 37 @reT ffeg™ OMR #Hie © Atz a3y R iz A<
fadiars Aere § st a9 feg 3u<1Y! © Ady R w2 foaras feg B Aot gadhit grdiemit Ia

TUg T I3 480 1d I6| IS YAS 4 W T J| ISF AT B 9d [fasy Ia w3 @it & OMR A<y Hic fg A 3
TR Aoy 3 fors Zarger J|

ieeg B i3 I II83 A B8 ddifee HIfHTT (J9F ASS Bt 1 i) J
fedacaa/Aons ABaBed 93T & Ha<t Il

Sriie=g § RS’ € AT € 3 ufgst OMR Hie € filg fidh gerfest § Aga ugs™ grdier 3 »3 A1 a3 gdet 3
g OMR Hie @ &% gahit € 386 it &5 Is|

Ut fR9 ymst T wigefes Arads fiiee Giffleee < Ags3 88 yers dir famr 31 fait & o= <t Afast feo
Yis © warddt Arage § wifa disnr A

Note: English version of the instructions is printed on the back cover of this Booklet.




1. iAIIgss & 39 fans It A
a) feurd v Jar
b) H& HS™S WS-Tls HIr=Ia!
c) GHIgEIS ST
d) I HiSS

2.  HOIT O || &8 s Sge I8 89 33 fed At €39 g&:
7ol | (7 I &'ad T2 Al S Tr39er) 7ol 1 (fewr)
A. Ufgst Gt | TdE
B. Tl 8Tt Il. 839
C. 3+ g= A . yI=
D. & 6= Iv. Y&H

CEf
A B C D

a) I I I v
b) IV ] Il I

c) Hl I I v
d) 1 Il I v

3. U= Befede Jedadt § IB-gH wigHd B
|. A9 W3TIS IIBH HISTS
1. AT feShd AasH I8t
1. 79 At faends fe Hendrt
IV. A9 II=d< g "HaAs

a) LILIV, 1

b) I, I, I, IV

c HLILILIV

d) I L1V, 1

4. ufgdt Wa8-fitd B8 AN fgfen Iedsd Aeas JE A2

a) BIS Heae

b) BII WBEATS

c) BII IIfEA

d) fesmi Sfeg

5.  fef3oHa aa19 i d9379ug Ao I Bt it fed farm @ Sl 2fimr Ifenr 372
a) I<r
b) T&H
c) e
d) HISH
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1. Who laid out ‘Pinjore Garden’?

a) Fidai khan koka
b) Mulla Jalal al- Din Mangburni
¢) Nasiruddin Kubacha

d) Ghazi Malik
2. Match List | with List 11 and select correct answer from the codes given below the lists:
List I (Travels of Shri Guru Nanak Dev Ji) List 11 (direction)
A. First Udasi I. South
B. Second Udasi I1. North
C. Third Udasi I11. East
D Fourth Udasi IV. West
Codes:
A B C D
a) I ] I v
b) IV ] I I
c) I ] v
d |1 I ] v
3. Arrange the Lt. Governors of Punjab chronologically:

I.  Sir Edward Douglas Maclagan

I1. Sir William Malcolm Hailey

I11. Sir Geoffrey Fitzhervey de Montmorency
IV. Sir Herbert William Emerson

a) LILIV, 1
b) I, 11, 1, IV
c HLILIL IV
d) I, LIV, 1
4. Who was the British governor general when the first Anglo-Sikh war took place?

a) Lord Metcalf
b) Lord Elphinstone
¢) Lord Harding
d) William Bentick

5. The historical town of Shri Kartarpur Sahib is situated on the bank of which of the following
rivers?

a) Ravi
b) Chenab
c) Beas
d) Jhelum
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6. III T UIHT fATF ‘TI3T & Ulgs &l J3i9r, THIe fame fedy €9 eaf3mr Ardar?

1. di9-uaHE Iftmrg IH
2. UIHg I T8 I H

Jat i3 e fegsut &9 Adt & IE J<:

a) fAge 1

b) fAgE 2

)1 w323

d) &t It 1 w3 &t 2

7. 393 A8 AET © W3HS w3 fSdEg e fTg8 A8 AeT ACHG WEMIeWH JITHT T
& foA & & '3 Jfemir fgmir I?

a) AcIur wansfAr
b) TEC-S&I A SIS
c) WaH® AIUC-Ea1%
d) SUIHSBITA WIAEIH
8. fHzgcd BfrAfcan fig T 3 Us wigu'3 TaAge I

a) YIu w3 AHag! iR wisus

b) WIgHSS W3 Yygi ffg wsus

¢) WIS I37g W3 farde © ygr fSg wigu3

d) BI& T S [FT HIT W3 BIS TIMT S 3 foser J9 Hae ffo wigu's

9. I B fed 9793 R a1 faurdt § i3 Ae @ /73t © AN T A9=ET AoHs fagT
J?

a) WHa gad
b) U9 fefitrie A= 183
c) wf3 fefire A< A3s
d) Hawr gag

10. 1962 <t Sta-3793 Ha1 € 78 fidiz T aH3g A HI?

a) fqdigmig Bideg fiy
b) fiSMig AA. widaT
c) FRISg o3 ses
d) REISa At Tt
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10.

India’s nuclear doctrine of ‘No First Use’ will only be used as retaliation against whom?

1. Non-nuclear weapon states.
2. Nuclear weapon states

Select the correct option:

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

Indian Navy commissioned the naval station INS Kohassa in Andaman and Nicobar Islands
after whose name?

a) Centropus Andamanensis

b) White- Bellied Sea Eagle

c) Andaman Serpent-Eagle

d) Caprimulgus Andamanicus

“Teeth to Tail” ratio in military logistics indicates:

a) A ratio between men and materials
b) A ratio between Arsenals and men
c) A ratio between men on front line and reserve

d) A ratio between men in fighting forces and men other than in fighting forces

Which of the following is the highest peacetime honour accorded to a soldier in India?

a) Ashok Chakra

b) Param Vishistha Seva Medal
c) Ati Vishistha Seva Medal

d) Shaurya Chakra

Who was the commander of the 7" Brigade in the Sino-Indian conflict of 19627

a) Brig. Surinder Singh
b) Brig. J.S. Arora

¢) Brig. Gurmeet Kanwal
d) Brig. J.P. Dalvi
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1.

12.

13.

4.

‘AIfemr IrdgTaT &t J?

a) fog €< Tuger I A I T AYT wu feeet T ysHus s96 w3 Wu 3 goT gd
AfIUIT IIer Al

b) &g = T AT I # LAY I AT T& W3 fx 939 © wed IdTT & I
feafiz a9 82 I&

c) for &8 gt T R g xS Jer 3 gt St Hesht adftmrr fdset wur &g
for 39 376 gaEh Is fa, G it it Fdftmie’ fig g1 3 fosgsg I Ao
I

d) f&3 98 A9 feasy At I

B3 e fead YaaH © H&Tde S8 fdadmit Araret fied 967?

1. BHS WLdT & JaI9™H H&tdE HAET (W E8.)
2. NS Bt Enrg 3,

3. g St

4. IHIE oA H3Tw

I fBa 3z 9. AG €39 S Se da:

a)fAge 1

b) fAge 2
c)fAge 1,233
d) 1,2,3m34

far 21 T 358t 3 WIfad AfTWTT &% S5 37 3 ACHS Sacat (1957) S AgysT I8

a) AgHaT
DRSARE RN RS
¢) Gordies AecH
d) Gordics folazH

w33t & wigEs YEifeusT, ARaStade 3 3dat g {20 dieng Wigst © dfew €3
n3I-THeI Ufgsaert I A20 WHU=d (G20 EMPOWER) T Hy 821 off J7

a) Fir20 2o f¥g wig3' & IHSIII WAETE § AHIES T

b) foHt 933 ST Wig3t < nAIed 3 ARISIagE €9 34T fowger
c) 20 H3dt dog it Hitfdar &g wigst & YSifeusT oger

d) 8.9. Are &g Wig3t & orridesht § @373 J9&
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11.  What is a ‘security community’?

a) It occurs when a group of states cooperate to manage their disputes and avoid war

b) It is a group of people who become integrated and within a territory develop a sense of
community

c) It involves a group of states whose primary security concerns link together closely enough
that their national securities are interdependent

d) All of the options given are correct

12.  Which organization(s) are responsible for the evaluation of Integrated Rural Development
Programme?

1. Programme Evaluation Organisation of Planning Commission(PEQ)
2. NABARD

3. RBI

4. Ministry of Rural Development

Select the correct answer using the code below:
a) 1lonly
b) 2only
c) 1,2and 3only
d) 1,2,3and 4
13. Bhilai Iron and Steel factory (1957) was setup with the technical and financial support of
which country?
a) Germany
b) USSR
¢) United States
d) United Kingdom

14.  The G20 Alliance for the Empowerment and Progression of women’s Economic
Representation (G2 EMPOWER) is an international initiative on women’s issues. What is the
main objective of the G20 EMPOWER?

a) To support women’s political leadership in G20 countries
b) To accelerate women’s leadership and empowerment in private sector
c¢) To increase women'’s representation in G20 ministerial meetings

d) To promote women’s representation in EU parliament
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15. I Bftmi &9 faa3 Geuier & T8 (AJ3d) ¥3d © Geuiar @ fegrfonr famr 32

1. HEH&ar w3 yerer
2. SIACTE® O3uTs
3. W W3 §396
L. IA W3 7S YISt

I B &9 53 €33 S usE a9
a) fAgE 133

b) fAge 1,3n34

¢c) fAge 233

d 1,2,3n34

16. TR, f7A 3 Hf T 391 ST=d Al & Ht wideyad Afad Aigd € HEsT 38 mie Hdiet
A, I B fanrAsT &5 far fanrAs © A ©F U3& Al
a) ATBI c) fasTryg
b) T=r d) ey

17. JfET ARG ¥, 7 IHF &% 3H T AS 39 I
d) 393 T YIS 7Z 3 3" A% 339 Il
b) III T EA AS 3 T AB I I
) FII T I A I I AG III Il
d) 393 T BF AT 3 23" A% €39 J|
18.  UTIA3™S T &™H faAS Jfemim
a) HIHE W& faeg
b) HHE fod=s
c) Sodt IfTH3 wist
d) fHeed I3 us

19. Hg WS & AfewzT T fagar AEs 93taEt &% gfanr I 32
a) IHBEIS
b) BB
c) ASES9
d) It Tt

20. YO ored ‘HeIIaHn fan & fafemr #it?

a) H&WJY
b) ferd<=3
c) dfesw
d) gread
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15.

16.

17.

18.

19.

20.

Which of the following industries are considered as a Secondary Sector Industry?

1. Mining and Quarrying
2. Textile production

3. Transport and Storage
4. Gas and Water Supply

Select the incorrect answer from the following:

a) 1 and 3 only
b) 1, 3and 4 only
c) 2 and 3 only
d)1,2,3and 4

Champa Devi, from whom Shri Guru Tegh Bahadur ji had bought the land for the
establishment of the city of Shri Anandpur Sahib, was wife of the ruler of which of the
following princely states?

a) Kahlur

b) Chamba
c) Bilaspur
d) Naraingarh

Gobind Sagar Reservoir, the reservoir of Bhakra Nangal Dam is:

a) The first largest reservoir of India
b) The second largest reservoir of India
c) The third largest reservoir of India
d) The fourth largest reservoir of India

Who coined the name Pakistan?
a) Muhammad Ali Jinnah

b) Muhammad Igbal

c) Chaudhary Rehmat Ali

d) Sikandar Hayat Khan

Which site of Indus valley civilization is associated with agriculture?
a) Kalibangan

b) Dholavira

c) Sakthazander

d) Rakhigarhi

Who wrote the famous drama, ‘Mudrarakshasa’?
a) Malayakethu

b) Visakhadatta

c) Kautilya

d) Chanakya
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21.

22.

23.

24.

25.

26.

27.

WINEI3 T TR 3 Talads € foge &% fid 3eg Sdt w3 Sfiad JiSifedt 56 I&
Sty &9 fagz mige fineg Ar?

a) TEIIU3 Hiowr

b) eI I

c) AiEII3

d) IeII3-I

Sred B3l Y € nEme < Jdh
a) forodls

IRGISES

c) Har

d) 39

Jred UIet T UfgsT yOre dE Hi?

a) BTG IIfews

b) fagrar Wikt

c) RIE iy sa&

d) 3913 friy

H& 1669 <9, I9T3 HIo™ AgS8 & HIG 3 fHaIWIF fagr ug fanr /7
a) I'HC™H

b) I H'S

c) A3 YUz

d) 3'&H HEHAI

I fBfimit ST fagzr wer famrer Hidarst =orgs T J7

a) &3t wrer

b) H&wT wreT

c) Hedidas &3t wrer

d) S wreT

dTd Agad AMAS STda I 1 AJIIT € SdH'S ©f U fds st B J341?
a) 3 S

b) 4 H'S

c) 5HAE

d) 8 e &It

fa53s 2023 9 yan fiasa Fuwasiy fams fA3
a) TISH MBI

b) d=d Hafed

¢) IAd 2339

REIRIE
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21.  Which of the following emperor was responsible for an intense military and intellectual
activity intended to bring about the political unification of Aryavrata?

a) Chandragupta Maurya
b) Chandragupta I
c) Samudragupta
d) Chandragupta Il

22.  The Qadariya Sufi cult was established in

a) lsrael
b) Baghdad
c) Mecca
d) Qatar

23.  Who was the first President of Ghadar Party?

a) Lala Hardyal

b) Chirag Ali

c) Sohan Singh Bhakna
d) Bhagat Singh

24. In the year 1669, which Maratha general captured the Sinhagad fort from the Mughals?

a) Ramdas

b) Nagoji Mane

c) Santaji Ghorpade
d) Tanaji Malusare

25.  Which of the following deficit is more inflationary?
a) Fiscal Deficit
b) Revenue Deficit
c) Monetized Fiscal Deficit
d) Budget Deficit

26. For how many years, Central government will compensate the loss of State governments due
to GST?

(@) 3 years
(b) 4 years
(c) 5 years
(d) No compensation

27.  Who won Men’s singles championship in Wimbledon 2023?

a) Carlos Alcaraz
b) Novak Djokovic
c) Roger Federer
d) Andy Murray
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28.

29.

30.

31.

32.

348 IHedl §3UT W3 B WIB G3uT fegaa »i3g 599 I
a) I8 W3 foam

b) HO feSHt foer

c) feer 3 ¥g a9 WHES (NFSA)

d) IO W3

TIHTHEA TS I fdh 3w 39 far &8 A3 J7?

93 fTT 'T9H AT 59 It i3 F8a '3 fegd aa:

1. 3793 ST feaye A, i fa uref '3, wiffdh 83t AafAght widls wigem Ia|
2. farrst & &3 He =@ fardl w3 o 2 ot ifg st fAdvt 33t Aafdivt © widlte
gt JI

3. 3E8Y.A1.G. € a3tardt ysu fHdw 331 AefAdh € ez 37 AR I, ug wifHdht
ASHSM S He™I Iae Ia|

L. I/93 T AISIT ©raT SHMT AT ArgT AR wifdht ARt <t et feg
nrgEh Ia|

Suda3 TES fed fauz Al I5°? At feasy gEl

a) fAgg 1 v3 2

b) fAIE 2 W3 3

c) fAge 3 w3 1
d) fAgem 1 w3 &

fSdt @ 88 fag &9 Halen T AIHET 36 T8 Wl nis 8. € wiitiardt At/ Ae:
a) H'd &8 H'6

b) JSfenws fiy &3

c) JH AfIs

d) feg A9

g &9 "WEH AgU™ Yrae fam & Bg 3T Ar?
a) &Il I&THA

b) HYIS TH

c) H&H S

d) AT T

DDSWO-2023 C-12



28.

29.

30.

31.

32.

The difference between Gross National Product and Gross Domestic Product is equal to

a) Gross Domestic Investment

b) Net Foreign Investment

c) Net Factor Income from Abroad (NFSA)
d) Net Imports

Pharmaceuticals is related to which of the following Revolutions?

a) Yellow Revolution
b) Purple Revolution
¢) Red Revolution
d) Pink Revolution

Consider the following statements about ‘farm subsidies’ in India.

1. The input subsidies in India such as on fertilizers fall under indirect farm subsidies.

2. Reduction in power and irrigation bills offered to farmers fall under direct farm subsidies.

3. The agricultural provisions of the WTO though allow direct farm subsidies, prohibits
indirect subsidies.

4. All subsidies forwarded by the governments in India fall under the indirect category.

Which of the statements are correct? Choose the correct option.

a) land2only
b) 2 and 3 only
c) 3and4only
d) 1and4only

The INA officer(s) put on trial in the Red Fort at Delhi was/were
a) Shah Nawaz Khan

b) Gurdial Singh Dhillon

c) Prem Sehgal

d) All of these

Who started the “Ice Stupa” project in Ladakh?
a) Ngawang Phuntsok

b) Madhukar Dhas

¢) Sonam Wangchuk

d) Tsering Yama
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33.

3L4.

35.

36.

37.

I3 oF IBfes Aagd! feaaHlimsT dinfea 3Bfas Hagdt, 793 € Is B9 I+ &9
IELACERIEEK

a) UgH Sars

b) faarg

c) MHH

d) €39 YA

S H AETE wafaasT I T amiar It i3 9 fom &% Aeftz 37
a) foud nicss

b) BIHTT HUE "B

c) it niess

d) BI&" &3 It &t

J& &3 Fga 3 fegg da:

JES |: THIIA TYHIS © 3373 3 o Hier J|

IEG |I: 310, BEASISH (TC76) W3 TUHIS T © IBEHI Wid'd © I3737 3 famr
e Ji

SuIa3 FES T IHS! R, I i3 feawu &8 A3 3 gae fe's g

a) IE& | W3 JES || T AJt I6

b) TS | W3 IES || T IBI IS

c) IES | At I UI 985 1| IS I

d) 9E& | B3 I UI IE8S || At I

B AT W3 I'H AT © fegdg wifsar der Js ‘3 993 98 € UA I ©9 Are o
S Sod g8 Al 97
1. vy fegs

2. 0& (Money) &8
3. Afeas Ao 55

a) fAga 1

b) fAge 2 w3 3
c) A 13 3
d) 1,233

Y- HIET 3T, ad @ g3a &t 78 3 We H3ar faa I 2
a) 833t wiHdtar

b) GIu

c) ST W3 GH T

d) wedtar
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33.

34.

35.

36.

37.

Vikramshila Gangetic Dolphin Sanctuary, India’s dolphin sanctuary, is located in which of
the following states of India?

a) West Bengal
b) Bihar
c) Assam
d) Uttar Pradesh

“Ecology is Permanent Economy” slogan is related to which of the following?

a) Chipko Movement

b) Narmada Bachao Andolan
c) Appiko movement

d) None of them

Consider the following statements:

Statement I: Phosphorus is derived from atmospheric reservoirs.
Statement I1: Sulphur is derived from both lithospheric (rock) and atmospheric reservoirs of
comparable size.

In the light of the above statements, choose the most appropriate answer from the options
given below

a) Both Statement | and Statement Il are correct

b) Both Statement | and Statement 1l are incorrect

c) Statement I is correct but Statement Il is incorrect
d) Statement I is incorrect but Statement Il is correct

A deadlock between the Lok Sabha and the Rajya Sabha calls for a joint sitting of the
parliament during the passage of

1. Ordinary legislation
2. Money bill
3. Constitution amendment bill

a) lonly

b) 2and 3only
c¢) land3only
d) 1,2and3

Among the different continents, the least amount of coal deposits are located in:

a) North America
b) Europe

¢) Asiaand Oceania
d) Africa
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38.

39.

LO.

L1.

el fogast @ AN 3793 T yars H3dt

a) Figal &4t & AR © fan {8 ATs T A99 I-, Ud 6 Halfon © nieg foR i Aes
< Heg geo wgdt I

b) FIS &Ji fx FHre T faA AEs T Aeg IR, U9 8 HJIS © nied 8 A9 & ASd Se&
Aot Il

c) HAT T Aus 199 fan i Heg I st Ji

d) 39 AT T HeEg I St Jl

fogst &9 fagar de At &t 972

(I) (s STHT)

S A— o3, Tl e

R T ————— W,gﬁhﬁm,m“@ﬁaﬁﬁ
Y (T AR &t W3 TSI

d) MAH---------------- EIT%“B@W

WETET € TOR ofH WEHY HIeIT € Al gH faaa J7
a) i-§33t WS, ii- GIY, iii-madier, iv-BHMmr
b) i-EFM, ii- WdIer, iii-GIY, iv-§331 wiHdtar
¢) i-wiEdier, ii- THM, iii-gIY, iv-§33T wiHdter
d) i-g3Y, ii- BEM, ii-§€39t wHIteT, iv-wigdier

HO! | T gl || &8 fHE™® 93 w3 It &3 a3 & AT ey ge:

Hol- | (3793 &9 e ) Fot- 1| (e IH/48939)

A. WB=E T TS 1. 3B &3, B¢ FHIUT U9, GFHT, HAUS,
frmian
B. 3% it 2. fE3-3idifed, goHd39 ATt 939
c. &3 fiidt 3. 3T &g, Mo, Ul sgares, ygst G
D. cJde fidt L. HOIHST, WH.AL, IAI3
CES
A B C D
a) 1 3 L 2
b) 2 3 1 L
c) 2 L 1 3
d) 1 3 2 L
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38. The Prime Minister of India at the time of his/her Appointment

a)

b)

c)
d)

Need not necessarily be a member of one of the house of parliament but must become a
member of one of the house within 6 months

Need not necessarily be a member of one of the house of parliament but must become a
member of the Lok Sabha within six month

Must be a member of one of the houses of the parliament

Must be member of the Lok Sabha

39.  Which one of the following pair is not correct?

(State)

a)
b)

Mizoram--------====---
SikKim------------——-

) Tripura---------------
d) Assam---------------

(Principal Languages)
Mizo,Lushai and English
Lepcha,Bhutia, Nepali,Limboo and Sikkimese
Bengali and Kokborok
Garo& Digaru

40.  Which is the correct sequence of continents in increasing order of their population?

a) i-North America, ii- Europe, iii-Africa, iv-Asia
b) i-Asia, ii- Africa, iii-Europe, iv-North America
c) i-Africa, ii- Asia, iii-Europe, iv-North America
d) i-Europe, ii- Asia, iii-North America, iv-Africa

41. Match List I with List 11 and choose the correct option from the codes given below:

List-1 (Major soils in India)

A. Alluvial soils

B. Black soils

C. Redsoils

D. Laterite soils

Code:

A B C

a) 1 3 4

b) 2 3 1

C) 2 4 1

d) 1 3 2
DDSWO-2023

List-11 (Major states / areas)

1. Tamil Nadu, Chota Nagpur Plateau, Orissa, Manipur,
Mizoram,

2. Indo-Gangetic, Brahmaputra plains

3. Tamil Nadu, Meghalaya, western Karnataka, eastern
Orissa

4. Maharastra, M.P., Gujarat

A O DD
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42.  NCR Zg Uzt It niamrew Qua J38! 3 Hg ade J¢ Jat &3 sAfemit §
HeT 3I5 9T f&a:
1. USTH
2. ¥IuTT
3. HI&
L. HSHI
a) 1-2-3-4
b) 2-4-3-1
c) 4-3-2-1
d) 3-2-4-1
L3. O IR &3 I wisggmedt Araet § gt || i< £33 9% © iy ©2397 &% g
g3 W3 It i3 I3 fed A feasy gE:

Hoit- | (W3I9Hed ArEre) HoI- 11 (o ©239)
A. ILO |. SfHdres St
B. IMF 1. FAS=T
C. G&Rd . fogurad St
D. G&tHe Iv. AfgH
33
A B C D
a) IV |
b) 1 AV
c) I | vV
d m v I
ki, feRR U9 HIGE T Hger STdaca-Aads 3 I7?
a) Mg medss
b) AUS UfsSTuUaEt
c) &I Gdan- fers
d) SSIH WTEH
L5, I3 T THSIUI W3 QU-THCIUST BT fidadIs Iud g9 IJo &3 fawst '3
fegg a9

1. oA 9 IHeaust @ e ST Are © g€ I8 W3 THAT HEd, T NS It Ia|
2. for S5 IHeaust @ WS ST fige AnT © gt I8 Hagd TS I Ia|

3. for &9 QU IHcIUR @ v fRT I feus A= € HEd THS &dt Is|

L. for &9 QU-THCIUS @ HHY 3T AT © g8 W3 aTHrT, B HEd THS I8 I5|
Jot i3 JE& T fagzr At 37

a)fAgg 132

b) fAgg 2 w3 3

¢) fAgE 2,3 w3 4

d)1,2,3m34
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42.

43.

44,

45.

Arrange the following towns in order of starting from Kundli on western periphery
expressway in NCR:

1. Palwal

2. Kharkhoda
3. Sohna

4. Manesar

a) 1-2-3-4
b) 2-4-3-1
c) 4-3-2-1
d) 3-2-4-1

Match the international organizations given in List | with their Headquarters given in List I
and choose the correct option from the codes given below:

List- I (International Organizations) List-11 (Head Quarters)
A.ILO I. Washington D.C.
B. IMF Il. Geneva
C. UNESCO I11. New York City
D. UNICEF IV. Paris
Codes:
A B C D
a) v i 1 |
b) i | v 1
C) I I v i
d) Il v I ]

Who is the current Director — General of the World Trade Organization?

a) Peter Sutherland

b) Sapuchai Panitchpakdi
c) Ngozi Okonjo- Iweala
d) Tedros Adhanom

Consider the following statements about the Electoral College for the President and Vice —
President of India:

1. It consists of both elected and nominated members of parliament in case of the President.
2. It consists of only elected members of parliament in case of the President.

3. It does not include members of the state legislature assemblies in case of the Vice
President.

4. It consists of both elected and nominated members of parliament in case of the Vice
President.

Which of the following statements are true?

a) 1 and 2 only
b) 2 and 3 only
c) 2, 3and 4 only
d)1,2,3and4

DDSWO-2023 C-19



L6.

L7.

L3.

LS.

Jedad g9 J6 59 g8a '3 fegd Ja:

1. 87 € 81T 35 A Yt It IrdiEt I

2. BFe I3 W3 fenn wftdg IrHeIUST el fagura3 di3 Ae Ia|
3. 89 gmie €9 I © die AAfCH § wnder wHSer Auer J|

L. €7 fedu a8t Wy 9= &dt 3t AT A<l

SuIas g &Y fagz At 37

a) fAge 1 w3 3

b) fAgg 2 w3 3

c) fAgg 1, 2n3 L

d) fRgg 1,23 3

Jot i3 Tt '3 fegg J9:

I'I3 T WIS AGIS

1. 39 AT & aged f9 f[JA & Aeer Il
2. 39 AT T INS T HeEd It AaeT J
3. 39 AT T8 98 FAaeT I

L. 39 A &9 € U Ade" I

g &3 I FE& T faazr Adt 372
a) fHae 1 W3 3

b) fRgeS 1, 2 W3 3

c) fAge 1

d) fAIS 2 ™3 &

"B Ufgseaert I Bhmi 79 farn &5 Aeus 37
a) A= AIRE3™ AT (SHG)

b) SR J&HS

c) HfIS GerH3T

d) HJ® g&g fedd

gedus-3 s I fodn &9 far ysrz S0 evrgr 319 st 3T famr 37

a) EmiAg
b) ford
NGCLE
d) &H

DDSWO-2023 C-20



46.

47.

48.

49.

Consider the following statements about the Governor

1. He should have completed 35 years of age
2. His emolument allowances and privileges are determined by the president
3. He submits his resignation later to the chief justice of the state

4. No criminal proceedings can be instituted against him

Which of the statement above is/are correct?
a) 1 and 3 only

b) 2 and 3 only

c)1,2and 4 only

d) 1,2 and 3 only

Consider the following statements:

Attorney General of India can

1. Take part in the proceedings of the Lok Sabha.

2. Be a member of a committee of the Lok Sabha.

3. Speak in the Lok Sabha.

4. Vote in the Lok Sabha.

Which of the statements given above is/ are correct?

a) 1 and 3 only
b) 1, 2 and 3 only
c) 1 only

d) 2 and 4 only

The "eShakti" initiative is related to which of the following?

a) Self Help Groups (SHG)

b) Old Age Pension

¢) Women Entrepreneurship
d) Women Skill Development

Chandrayaan-3 mission has been launched by which of the following space agency?

a) ESA

b) ISRO

¢) Roscosmos
d) NASA
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50.

51.

52.

53.

54.

Jo' i3 Es' '3 fegg o<:

1. Wi g9 99y g fe8rs © T3 '3 wrg3 I

2. JEIAS €Y garg YHg fH3s © gz '3 wiogz J

3. foGa8mg fonlaed fSW31a3 YHg fedss @ fAg'3 '3 wiogs
ug &3 I gEa &9 fagam Adt I?

a) fH9e 3

b) fAgE 1 W3 2

c) fAgg 2 w3 3
d)1,2n33

AIHH &8 T3 J AdE €8 JAUSS T &A JiJe-daT © fouc &d I Bt
S0 faaat Yfsfanr wiH 39 '3 =33t At ?

a) UAST

b) Ffclar

c) FAH JII&T

d) YSIEaHs

"faries I Jergrd © ey &g Io &3 gus '3 fegg &3:
1. B-I=I&H

2. A gateafHdmit &g <dl-ardr

3. fefenrgem § He3 2a8'c & OHaH

L. iz o9 '3 5973 93 doadcifec

Suda3 FEe T faazT Adt 372

a) fAge 1, 23 1

b) fHag 1 W3 3

c)fAge 1,33

d) fARgg 3 w3 &

BJ9 © YfHg 5t #3 7 v Hiig fret & wifizrag fed | afaies Arfos ©r dlg Uag
Jfemr /7, faoz shd fod As?

a) SIHSS!

b) fom3t

c) drfedr

d) AII=ICt

JId HET 3599 HIGAH T Bud dE J7?

c) I TIs fHY &3
d) Aeru3
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50.

51.

52.

53.

54.

Consider the following statements

1. Atom bomb is based upon the principle of uncontrolled nuclear fusion
2.Hydrogen bomb is based upon the principle of uncontrolled nuclear fission
3.Nuclear reactor is based upon the principle of controlled nuclear fission

Which of the statements given above is/are correct?

a) 3 only

b) 1 and 2 only
c) 2 and 3 only
d)1,2and 3

Which of the following process is generally employed for the disposal of hospitals’ solid
wastes that might be contaminated with pathogens?

a) Composting
b) Cooking

¢) Incineration
d) Pulverization

Consider the following statements regarding “Digital India” program:
1. e-governance

2. Wi-Fi in All Universities

3. Offer free tablets to students.

4. Broad band connectivity at village level

Which of the above statement(s) is/are correct?

a) 1,2 and 4 only
b) 1 and 3 only
c) 1,3and 4 only
d) 3and 4 only

Shaikh Mian Mir, the famous sufi saint of Lahore, who laid the foundation stone of Shri
Harimandir Sahib at Amritsar, was from which Silsila?

a) Nagshbandi
b) Chishti
c¢) Qadiri
d) Suhrawardi

Who is the author of Guru Shabad Ratnakar Mahankosh?

a) Gianii Ditt Singh

b) Gurmukh Singh

¢) Bhai Kahan Singh Nabha
d) Sainapat
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55. TS 2023 &7 a8 A3 3 39 38< UuScTaH T Gvwres fan I+ &g &3 famr 37

a) HO y©H
b) €33 y&H
¢) II&H
d) IHAES

56.  HGIAM YAIIH § JE B aIer I?

a) I[H orfes
b) fregr e
¢) Yorfes AH3t
d) ISecg

57. I I3 T faozr s yg=-wres uami adt 37

a) fanrat
b) files & weger
¢) IEH
d) Y&I=TH

58. "JeZ AfHC 2023" T nag® fd93 Afag Ar?

a) fA3&

b) e fHdrcs
¢) &<I iIHt
d) Jos

59. feme g9 T Hger yurs de I?

a) ez HSUH
b) W Sar

c) fAeater ArgHleT
d) frd wiar fod

60. HAH W3 YIH T dT HIH &8 FHT'T 20% W3 80% I I| HAH W3 YIH & T T
WEUTS &t I?

a 3:5
by 2:8
c) 2:3
d 1:2
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55. In which state has the world's longest railway platform been inaugurated in the year 2023?

a) Madhya Pradesh
b) Uttar Pradesh
c¢) Karnataka

d) Rajasthan

56.  Who implements the MNREGA programme?

a) Gram Panchayat
b) Zila Parishad

c) Panchayat Samiti
d) Collector

57.  Which one of the following is not a pre-disaster stage?

a) Preparedness
b) Mitigation
C) prevention
d) Rehabilitation

58.  Which city was the host of the “QUAD Summit 2023?

a) Sydney

b) Washington
c) New Delhi
d) Hiroshima

59.  Who is the current president of World Bank?

a) David Malpass

b) Ajay Banga

c) Kristalina Georgieva
d) Jim Yong Kim

60. Height of Mukesh and Prakash is 20% and 80% respectively more than that of Suresh. What
is the Ratio of height of Mukesh and Prakash?

a 3:5
b) 2:8
c) 2:3
d 1:2
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61.

39 1- A9 WESIE 23T Ure JI< I6 |

39 2; I WESIC 3T dI&" UAT 9% IS |

39 3; ¥ WESIC fAHEAC 234! fourdt fide I |

Aag Ufad 35 a8 39 I, 37 I i3 aust 7 faozr e welst 35 Jer oder 3 2
|. 7S wESe 7 3T II& UAE 9e IS friHeAe 294! fourst fidd Is |
11 WESe 7 336" AT da¢ I6 8 TF& 2 Ure dae I&|

1l SF&" UHAT 36 T8 WEHSIC fiHaHe 2349 &t S|

a) fAg< |

b) IS Il

c) fAgg n w31

d) Quda3 &5 adt & Arfenr Ifer 35 &t J1

fsaem: yms &. 62-64

U

62.

63.

64.

65.

s fefenrgst AB,C,D.EF R 5 ‘3 95 Ia1 A W3 B Bfug I8R 3 I8 #< f salt It
JEH &% AEUS TS| D W3 F 89 I6 FE [ J6t HOJ IS AC,D, & miad B
I I AS & Sraimit & &t el

It TG T fogFr Huar fefenrags! Wod adt geT?

a)F

b) E

c)B

d) A

It oG T fogz dur fefenrgst Wlad &dt gger?

a)B

b) C

c)E

d)F

fga3 © fefenrad, A wed &t TE-, HUS IS?

a) AW3F
b) CWIE
C)BW3E
d)EW3F

B =391 0 S99 S © U9 UA I8 I&| Add @391 © T 32 AdchHied I3 3 i
U ©F S fdat 97

a) 4 Achieg

b) 8 Achiieg

¢) 16 Achitea

d) 64 AShies
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61.

Fact 1: All athletes like to run.
Fact 2: Some athletes like to swim.
Fact 3: Some athletes look like gymnast.

If the first three statements are facts, which of the following statements must also be a fact?
I:  All athletes who like to swim look like gymnast.

Il:  Athletes who like to swim also like to run.
I1l:  Athletes who like to run do not look like gymnast.

a) lonly
b) Ilonly
c) IHandlIllonly

d)  None of the statement is a known fact

Direction Q no. 62 to 64

Passage: Six students A, B, C, D, E, F are sitting in a field. A and B are from Nehru House while the
rest belong to Gandhi house. D and F are tall while the others are short. A, C and D are wearing
glasses while the others are not.

62.

63.

64.

65.

Which short student of Gandhi House is not wearing glasses?

a)F
b) E
c)B
d) A

Which tall student of Gandhi House is not wearing glasses?
a)B
b) C

c)E
d)F

Which two students, who are not wearing glasses, are short?

a)Aand F
b) Cand E
c)Band E
d)Eand F

A square has four sides of equal length. If the perimeter of the square is 32 cm, what is the
length of one side?

a)4cm
b) 8 cm
c) 16 cm
d) 64 cm
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fagen (AT &. 66 3 68): I& i 3T ATIe! T wiftMles I3 W3 J& i3 A € Aey el 5
&3t Arget 2015 3 2019 & fimie & ifmr B8 wadinig I8 Gieera’ <t farest, WarsT yait

g96 T ifeea’ & et w3 36 Yy iftmief, XAT, GMAT W3 CAT &8 ge dI®@

Eviieeat & fare3t 99 Arearat foer Il
CAT XAT GMAT
Year
Appeared Qualified Selected Appeared Qualified Selected Appeared Qualified Selected

2015 7991 6485 310 6127 5026 335 9774 6058 249
2016 6466 5687 245 6290 4818 355 7297 6512 283
2017 8471 4185 298 9997 7442 293 6580 6286 332
2018 9378 4766 340 6693 5334 338 9041 5846 345
2019 7507 6287 327 7067 4999 334 7874 7515 338

66. fan forf3os 58 fog' At 9% g IE GHieea’ € WAz et <0 372
a) GMAT
b) XAT
c) CAT
d) XAT W3 CAT @<=

67. WS 2017 f*T, fan foHf3ow ST ge IE Sifeea’ & »fhwg Je o8 Sl g &8
ve Y333 Hl?
a) GMAT W3 CAT
b) CAT
c) GMAT
d) XAT

68. HAHIEM nIits fime @ 96 CAT @' g I Oriieeat & a3t for fimre © @96
GMAT BE g2 I GHieeat & fare3t e sai5qr fder YStus J2
a) 82.L2%

b) 76.95%

c) 98.25%

d) 91.L9%

DDSWO-2023
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Directions (Question Nos. 66 to 68): Study the following table and answer the questions given
below. Following table gives information on number of candidates appeared for exam, number of
candidates that qualified and number of selected candidates for three major exams, XAT, GMAT
and CAT for a period from 2015 to 20109.

CAT XAT GMAT
Year
Appeared Quialified Selected Appeared Qualified Selected Appeared Quialified Selected

2015 7991 6485 310 6127 5026 335 9774 6058 249
2016 6466 5687 245 6290 4818 355 7297 6512 283
2017 8471 4185 298 9997 7442 293 6580 6286 332
2018 9378 4766 340 6693 5334 338 9041 5846 345
2019 7507 6287 327 7067 4999 334 7874 7515 338

66. For which exam the average number of candidates selected over the years is the maximum?

a) GMAT

b) XAT

c) CAT

d) XAT and CAT both

67. In the year 2017, which exam had the lowest percentage of candidates selected over the
candidates appeared?

a) GMAT and CAT
b) CAT

c) GMAT

d) XAT

68.  The number of candidates selected by CAT during the period under review is approximately
what percent of the number selected for GMAT during this period?
a) 82.42%
b) 76.95%
c) 98.25%
d) 91.49%
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69.

70.

71.

72.

73.

s 3% Ji5t ACHS A 3 ACHS B 39 60 faiicd Y3t ver & 939 &8 w3 dact
I W3 HSHS B 3 ASHG A 39 L5 faidied Y3t wer & 9239 &% Tur wige! J| At
w39 *9 3% JiEt & WAZ IS3'I off I=qM?

a) 51.4 fa: Y3t wer

b) 50.3 fa.t: Y3t wer

c) 55 faait: Y3t wer

d) 438 ot Y3t wfer

fig 32 = forrgr agfen INA & faar, fa T At T<! © Fad3 U3a & Fad3t Ut
J| 2 oo I T INH &S o faHsT I?

a) Of
b) HTAL
c) H
d) 3=

AT 89 g P '3 3l J1 89 UeH 28 20 Hica &<t I 3 feg v yA yast I w3
15 Hied Tt I €3 fag AR HIe! I3 w3 15 Hied Tser JI w3 K9, 8T g9 AR
HE<! I w3 15 Hicd I8! J) ggnrst g 3 A9 for fomr feg J7

a) €39

b) U&H

c) Yygd

d) THE

Add TAP & 'ver' ¥r J3 3T famir J 37 cuUT & far 39 33 A3 A=ar?
a) Ewu ) i

b) ewv

c) EVZ

d) fWv

3t fSos sU3 $899 83: 3, 7, 15, 31, ?, 127
a) 63

b) 55
c) 62

d) 60
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69.

70.

71.

72.

73.

A train travels from Station A to Station B at a speed of 60 km/h and returns from Station B
to Station A at a speed of 45 km/h. What is the average speed of the train for the entire
journey?

a) 51.4 km/h

b) 50.3 km/h

¢) 55 km/h

d) 48 km/h

Pointing to a photo, Ramesh said, she is the only granddaughter of my grandmother’s only
son. How may the girl in the photo relate to Ramesh?

a) Daughter

b) Aunt

c¢) Mother

d) Sister

Sarah is standing at a point P. She walks 20 meters towards the west and then turns left and
walks 15 meters. She then turns right and walks 15 meters. Finally, she turns right again and
walks 15 meters. In which direction is Sarah from the starting point?

a) North

b) West

c) East

d) South

If TAP is coded as 'ver' then what will CUT be coded as?

a) Ewu
b) ewv
c) EVZ
d) fwv

Find the missing number in the series: 3, 7, 15, 31, ?, 127

a) 63
b) 55
c) 62
d) 60
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7L, TS T gI3 T Hifen T d839 ffa fagr Jer 37

a) "B, &S99
b) "%, oS

c) WIS, THE
d) T%, Wa3Ed

75. TU3 &EJ B

o/ o0\ A
6 4 5
a) 32

b) 18

c) 27
d) 22

76. TET T g9 A3 I3 I 95, gt €9 5 B fd 9, Fefd e Sugr J1 Sugr A
e

a) aH-feas

b) fes-a3

c) 39 I3- If&s a9
d) WIHI-IAH

77. w3 51 fefonrgg S A3 KT 219 AFs '3 J1 widlg 3 Grer off I I?
a) 29
b) 31
c) 30

d) 22

78. RAJASTHAN T HiR fegsr y3ifdy fagzr 37

a) MATH2ADAS
b) MAHTARDLAS
c) MATAHRDLAS
d) MAHT2ADAS
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74.  Which two months in a year have the same calendar?

a) April, November
b) April, July

c) October, December
d) June, October

75. Find the missing number

5 4 6 3 8 59 3
6 4 5

a) 32

b) 18

c) 27

d) 22

76. Four pairs of words have been given, out of which three are alike in same manner, while one
is different. Choose out the odd one

a) Work-Leisure
b) Day-Night
c) Expedite-Procrastinate

d) Frequently-Always

77. Anant ranks 21% in a class of 51 students. What is his rank from the last?
a) 29
b) 31
c) 30
d) 22

78.  What is the mirror image of RAJASTHAN?

a) HATHRADAS
b) MAHTARDLAS
c) HATAHRDLAS
d) HAHT2ADLAS
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79.

80.

81.

82.

83.

8L.

fig Tareeg ffq @fidr HHlG 36000/-guUe ST 20% HoQ &% 2T J w3 fa Ig
HI® 28500/- gue &9 5% We &% 2T J| OFT I8 59 A sa7s faar I7?

a) L500/- JUE B3
b) 3500/- JUE FIAS
c) 9000/- guUe I
d) 2550/- guUE B9

HYIE T34 g8 & Aftmir 1020 R9 A3 3 uie fagdt Afemr 78t 7 Aat 37
a) 65
b) 12
c) 59
d) &

< AftE B 7F 60 I W3 GI5 T IE5eS 350 I BIS © §8C-FH T 7F St I=qr?
a) 1/L0
b) 8/75
c) 6/35

d) 75/8

A W3 B T §HI T WEU3 3:4 J| Aad §I&T S GHI T AT L9 I, 3 A T BHT &

J?

a) 21
b) 24
c) 28
d) 35

07:15 TIAGE JU-wH T HA fegsr yIifdy o J=qr?
a) 09.25

b) 3:35

c) OL:L5

d) 09:15

g It § fods I8 Stz Aer I e Wfe fig-‘u fHgs S Hges ft 3 2
a) 671/1296

b) 625/1296

c) 16/1296

d) 4L/1296
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79.

80.

81.

82.

83.

84.

A shopkeeper sells one washing machine for Rs. 36000 at a gain of 20% and another for

Rs. 28500 at a loss of 5%. What is his total gain or loss?

a) Rs. 4500/- profit
b) Rs. 3500/- loss
c) Rs. 9000/- profit
d) Rs. 2550/- profit

What is the least number that can be added to the number 1020 to make it a perfect square?

a) 65
b) 12
c) 59
d) 4

The sum of two numbers is 60 and their product is 350. What will be the sum of their
reciprocal?

a) 1/40
b) 8/75
¢) 6/35
d) 75/8

The ratio of the ages of A and B is 3:4. If the sum of their ages is 49, how old is A?

a) 21
b) 24
c) 28
d) 35

What will be the mirror image of a wall-clock, which shows 07:15?

a) 09.25
b) 3:35

c) 04:45
d) 09:15

Four dice are rolled together .What is the probability of getting at least one ‘4’?

a) 671/1296
b) 625/1296
c) 16/1296
d) 4/1296
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85.

86.

87.

88.

A S dH & 8 foo' g yar I Aaer I w3 B BR AW § 12 fes' 9 yar a9 Aaer J1 A
gJ fedS &M JI8 IS, 3T SH § YT Sd6 K9 fdar AHt Sdlar?

a) 4.5 fes

b) 1.8 fe&

c) 5.2 s

d) 6.5 fes

g SHt IHFT H WUE 5180 wreHimt § 8 &H =991 ©F gU ¥F Ui’ A, GA &
S i @F 38 L vt Wie Aa| Adg 8 & 99 WeH! 39 fH® AT 37 89 A TJqr
g BT, 3T A g379 9 yIa < farest J=9n.
a) 72

b) 68

c) 78

d) fegst &9 agt &t

Jot i3 FEa" T A9 9:

1. U3-J18t &8 E37 gnret It Il

2. 25 ISt B3 &8 anrst It I

3. U3-Ji8 Hed &8 A<t adi geil|

fogst sget 3 fifer dfenr 7 Ager I f

a) Hed {93t i1 AR de I

b) Hed 28 It W3 F3T =91 ARE I Ia|

c) U3-Jt oat AgHm fig A8 3 We AT I

d) S5 J18t, U3-3i=t &8 A=< It Il

for yrie R9, au6 €9 24-2y 337 < fegdrg Ay § TaATanr famir J) famrs’ 3 gmie
fHeS dg 918 Ia:
JES:F>R2T=E>W<Q
fHe:

LE<F

.QzT

A feasy ge;

a) fAge fier 179 3

b) fAge fRer 1 A9 I

c) eI mat i Ag 3

d) T3 e I3 1 HT I
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85.

86.

87.

88.

A can complete a job in 8 days and B can complete the same job in 12 days. If they work
together, how long will it take to complete the job?

a) 4.5 days

b) 4.8 days

c) 5.2 days

d) 6.5 days

An army Commander wishing to draw up his 5180 men in the form of a solid square found
that he had 4 men less. If he could get four more men and can form the solid square, then the
number of men in the front row is

a) 72

b) 68

c) 78

d) None of these

Examine the following statements:

1. Lady's finger is tastier than cabbage.
2. Cauliflower is tastier than lady's finger.
3. Cabbage is not tastier than peas.

The conclusion that can be drawn from these statements is that

a) Peas are as tasty as lady's finger

b) Peas are as tasty as cauliflower and lady's finger
c) Cabbage is the least tasty of the four vegetables
d) Cauliflower is tastier than cabbage

In this question, relationship between different elements is shown in the statement. The
statement is followed by conclusions.

Statements: F>R>T=E>W <Q
Conclusions:

. E<F

. Q>T

Choose the correct option:

a) Only conclusion 1 is true
b) Only conclusion Il is true
c) Either conclusion I or 11 is true

d) Neither conclusion I nor Il is true
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89.

90.

91.

92.

93.

Jot i3 It 5 foH I g g8 & A 2023 f9 2t gt & Sfgafed fimrds
fiE=t 1l © Aes e «i3™
a) MO Y2 b) 3THBSZ ¢) BF1H d) €33 yeH

TS 2023 ff9 Wust faad © Ufag® 3793 g8 Ao fegr3t aeg © Bewes fag ez
famr /2

a) &<l fdat
b) IS
c) Uz

d) B3

HII Jeri3 ity @ YyaHs 59 Js Bitmif &9 fagz/faaa fanrs At 3/3572

. HIIH I3 iy T YArAS Yoo 3931 wigerH3d '3 496 87 JI

II. HIIH Ierit3 iy eurgr 7t i3 fiffomit § sraamrdt fiffomit = Frfenr wer A,
fe €3 araamdt w3 difde \rdt Yasht fsdmi Igmit Ia)

1. fost fHfemit '3 foxt feddus Wga, g ©du3 T U3 w3 Ha T d9 At 7 3 G 7RG
© wrdt i 8976 sere fHfamit Qug <t 2fthr A Aaer 7

At feasy ge:

a) THIS I3 1l

b) fAgE 11 W3 1l

c) fAge I3 11

d) I, Il w3 Il

Urs @9 AfwiesT S91 S38H, 1919 © fedu @ ffcr Agag ©vd yE's sist
JE FEted3 faAS TUHA SI3T?

a) JfdTg &g 3919

b) I IH WIS I8

c) A JGrIH

d) ASH TuéT AIASSI

fder &g <8 T 8ud de I?
a) gIg=HH fHY

b) yHE3 fHY

c) fag g gt

d) o7& fHY
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89.

90.

91.

92.

93.

In which of the following states did the DRDO successfully tested the short range
ballistic Missile Prithvi Il in the year 2023?

a) Andhra Pradesh b) Tamil Nadu c) Odisha d) Uttar Pradesh

Where was the first of its kind Indian Air Force Heritage Centre inaugurated in the year
2023?

a) New Delhi

b) Chandigarh

c) Pune

d) Kolkata

Which of the following statement about Maharaja Ranjit Singh’s administration is/are
correct?

[. Maharaja Ranjit Singh’s administration takes its inspiration from the ancient Indian text
Arthshastra.

I1. The coins issued by Maharaja Ranjit Singh were known as Nanakshahi coins, which have
Nanak shahi and Gobind shahi couplets inscribed on them.

I11. A distinguish mark on these coins was a tree leaf and a peacock feather which could also
be noticed on the coins minted in the later period of his rule.

Choose the correct option

a) land Il only

b) 1l and 111 only

c) Iand Il only

d) I, Iland Il

Who returned the knighthood conferred on him by the British Government as a token of
protest against Jallianwala Bagh Massacre in Punjab, 1919?

a) Rabindra Nath Tagore

b) Raja Ram Mohan Roy

¢) Sir Gangaram

d) Swami Dayanand Saraswati

Who is the author of the novel ‘Chitta lahu ?
a) Gurbax Singh
b) Khushwant Singh

¢) Shiv Kumar Batalavi
d) Nanak Singh
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94.

95.

96.

97.

98.

99.

Jot i3 aEst &9 fagzr At 37

| JAg v I3 gy & v g9 )

Il JAre & I Ul 3% fags

1. Jarg € I Uet g+ (€33 maa)
IV. FIrdt Urrg T 9+ 28 3

HEfrfan-r‘g’S
a) fRIg 1, 13 1
b) fRgg I, 1 W3 IV
c) TRaZ 1 w3 1l
d) fRgg m w3 v

nifnH INIOCHUS -23, & Sg-graest wifsnwA A, fd & Aiaga! B St
Jreh

a) o'l IE AeT

b) Rfem geret Aar

DEGEIERR:

d) HEHMIS I=TE AT

"% 2023 R9 NATO feg HHS J& T8 &= 2 fagam 32
OVEGLIGES

b) SFHMWH

) U8z

d) faas83

J& Bt fed faadt Uz famd) trer fores yen fer Afas adt 37
a) It

b) ORI

c)ddg

d) IS

T2 YISt I=IAd & wIe 3 AT <o § THe W3 €8 I93Tt el '3 garfemr
HI?

a) SITHAL T WBAZ"

b) THS I IrH

c) Wa. WIgIId

d) f&ad T g&ar

Is fBfimit S faazr sEs At &t 32

a) fearde & 1893 feu fiardl, gymiA.2. fed AI< fene ugH ANSs feg 31 f&nr i
b) HfIWHUS AHH T HEUST A3Tsr g8 & oISt Al

c) TfWEE AR & YIuS AHH T AEUsT St At

d) I I @ AEeT SS9 fey 1875 feg Jgt A
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94.  Which of the following statements are correct?

I. The state tree of Punjab is Neem tree

I1. The state animal of Punjab is Black buck

I11. The state bird of Punjab is Baaj (northern goshawk)
IV.Sunflower is the state flower of Punjab

Choose the correct option:
a) I, Il and 11 only

b) I, Il and IV only

c) Iland 111 only

d) Il and IV only

95. Exercise INIOCHUS -23, a multinational exercise was hosted by

a) Greece Air Force
b) British Air Force
c) Indian Air Force
d) Malaysian Air Force

96.  Which of the following countries is the new country to join NATO in April 2023?

a) Denmark
b) Belgium
c¢) Poland
d) Finland

97.  Which one of the following hydroelectric project is not located in Himachal Pradesh?

a) Lubhri
b) Chamera
¢) Khab
d) Ganguwal

98.  Which Portuguese Governor defeated Arabs and Egyptians at Daman and Diu Island of
India?

a) Francisco de Almaida
b) Vasco D Gama

¢) F. Albuquerque

d) Ninho Da Kunha

99.  Which of the following statement is not correct?

a) Vivekananda participated in the All World Religions Conference in 1893 at Chicago,
US.A.

b) Satyashodhak Samaj was established by Jyotiba Phule.

c) Dayanand Saraswati established the Prarthna Samaj.

d) Arya Samaj was founded in 1875 in Bombay.

DDSWO-2023 C-41



100. 393 T YA T3 Ay & dgfec urs @ fenns=' As:
1. FtH3 HSSM T8 IHHd ded
2. garfenr HEESM g fsfa3
3. 9793 § IHCT HIS 3T B T wifterg
L. w3faH =fse © A Heg 393t J=d

I 59 3F fed AT €39 < TT o
a) fAgg 1,233
b) fAgE 1,3 W3 4
c) fAgg 3 w3 4
d) 1,2,3w34
101. #Ot | T Hot || &% &S g I8 gomit I& %9 JF &9 Adt €39 g¢:

7Yl | (de99rg)  HOM I (W)
A) Hedr 1. HI' I eI
B) Ug<iy 2. IHBEY
c) feadg 3. B3t
D) &J<T HeT L. JAIS

CEf

A B C D
a) 1 2 3 4
by 4 3 2 1
C) 2 3 1 4
d 3 2 4 1
102. & o=t 9t frfenr e fJa 31

a) WHH
b) IHE
c) U
c) UAg

103. AEd SIHT'I WaETt fHa3 Ure © Aegs 9 I 89 g8t '3 fegrd aa:

1. A= IIHTS WEIES! THI3 tirsT & widg 2003 &g Jfemr|

2. for AlitH = fers™9 wiagsd 2010 <9 Jfemr|

3. HS SIHTS WS fHI3 WraT ©F 8er Agdr JaHgami 3 8% © wHIg3T §
it fRa3 A yIghr gaeger J|

L. for fRg3 A9® Aot § ded 3 9+ A 28 A8 gu f9 &3 3 Aier I
992 g8 At I&? A feasy ge:

a) fHae 1, 34

b) fAgE 2, 334

¢) fRge 1,233

d) 1,2 334
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100. The features of the proposed Union of India by the Cabinet Plan included:

1. Weak Centre with limited powers

2. Residuary powers vested in the Centre

3. India’s right to cede from the Commonwealth

4. All the members of the Interim Cabinet would be Indians

Choose the correct statements from the codes given below:
a)Only1,2and 3
b) Only 1, 3and 4

¢) Only 3and 4
d)1,2,3and 4

101.  Match List I with List Il and select the correct answer from the codes given below the lists:

List | (Ports) List 11 (State)
A. Mundra 1. Maharasthra
B. Paradeep 2. Tamil Nadu
C. Ennore 3. Odisha
D. Nhava Sheva 4. Gujarat
Codes:

A B C D
a) 1 2 3 4
b) 4 3 2 1
C) 2 3 1 4
d) 3 2 4 1

102. Nanda Devi peak forms a part of Himalayas.

a) Assam
b) Kumaon
c) Nepal
d) Punjab

103. In connection with Ex-Servicemen Contributory Health Scheme, consider the following

statements:

b) Ex-Servicemen Contributory Health Scheme was launched in 2003

c) The Scheme was expanded in October, 2010

d) The objective of the Ex-Servicemen Contributory Health Scheme is to provide quality
healthcare to ex-servicemen and their dependents

e) The Healthcare Scheme is jointly funded by both the Central and State Government

Which of the statements are correct? Choose the correct option:
a) 1,2,and 4 only

b) 2,3and 4 only

c) 1,2,and 3 only

d) 1,2,3,and 4
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104,

105.

106.

107.

108.

109.

FHESST e IHs IAFCH amiar far BF &8 HEu3 37
a) I3
b) & WA
c) AUa
d) 1
7o | fET 3T ardt St arsifedt & met 11 Re 83 fusedt d93 &% He'e:
Hol | 7ol I
A, JeITe T IgE Ay R ediads |. SuIHeE AacH B
B. dIMmrerId3l Ay T eidas 1. Sudws fort
C. YIst UfIA3® S 43| 1. uIHs U
8oz az g
A B C

a) Il I |
b) I | I
c) I | 1
d I I 1

YA3S ‘AT HES: “Ffes-fEdhes Ifeesdt frs T f3-Ofafeer fans &t
a) 2. fEfFl'c"WT

b) Hl. I+ HI&

c) Afegr FfH3

d) 3t FvEr

Ure © fda3T fagr 937 & AN'G g8t &8 HAgd 37
a) A%Ug

b) wifiEHAI

c) Sftmrer

d) fadaua

TS S A8 3 yIrst AfswaT faadt 37
a) fHg wrt AfgmizT

b) ARUSHMS Hfsw3T

C) BT Wt Hfgw3T

d) Tt Afgwzr

g9d © IHS AX UAE T JIeJ&d dE AP
a) foseg ut 34t

b) 339y

c) S%3 ot 34t

d) It ot SOt
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10L. The slogan “community of common destiny” belongs to which country?

105.

106.

107.

108.

109.

a) India
b) US

c) Japan
d) China

Match the military activity given in List — I with their military code name given in List — II.

List—1 List— 11
A. Integration of Hyderabad into Indian Union I. Operation Cactus Lily
B. Integration of Goa into Indian Union Il. Operation Vijay
C. Liberation of East Pakistan I11. Operation Polo

Choose the appropriate code:

Code:

b) M1 I
o I 1
d | I 1

Who wrote the book ‘Samudra Manthan: Sino-Indian Rivalry in the Indo-Pacific’?

a) V. Krishnappa
b) C Raja Mohan
c) Saira Basit

d) Kanti Bajpai

Which district of Punjab is famous for manufacturing sports goods?

a) Jalandhar

b) Amritsar
¢) Ludhiana
d) Ferozpur

Which of the following is the oldest civilization of the world?

a) Indus Valley Civilization
b) Mesopotamian Civilization
c) Nile Valley Civilization

d) Chinese Civilization

Who was the Governor of Punjab at the time of Babur’s invasion?

a) Dilawar Khan Lodhi
b) Tatar Khan

c¢) Daulat Khan Lodhi
d) Ghazi Khan Lodhi
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110.

111.

112.

113.

1ML,

&3 It Arearat '3 feorg J:

YIS X' T Jd€ & AHTEA, H Z § Aeer At w3 @RS HidH < ISt ©F AHTES
T H, 'UgS V' &' 50T B8 AfHI &Jt Ifenr; ug 86 fed g% © @3 Uadt Y
feg #s|

GuIaz ArEarat © Hedd &9, It i3 aas 9 faggr ffa Ao d=r gder 97

a) 'UIat Y' © g% AHIEY 'Udet X' &5 Jong S8 AfgH3 &t I

b) 'UFT Y’ T Wie-ue i AHIE I 7 'UIT X' ® IF AHIE § ©H3 T Aee Al
c) U3t X' B faA & mHgEa & Z & HiIGH I=3I3T T AHIES &t a3l

d) "UIt X' € € AHIES 2 § &It Areer Hl

__%_ B3 3fegdiad o3 wE YIS
a) HY, AY

b) WY, Gz

c) HaF Hagt

d) fog, Ay

I fefenr Aer 3 o I= J?
a) WUIHSG JeT

b) BA < faHt

c) fan 3is T 5g3 29 I

d) fora™ At Bare

fgog Age ‘I3’ Us83d &5 &dt gfewr ?
a) ¥Jd

b) UZedd

c) 3dadd

d) fAgAEgg

gt Tgst ‘3 g7 JI’ T <Ts =5
a) Ushf argemt ‘3 88 Ia&|

b) Ut egeht ‘3 8% Ji

c) U Tgemi ‘3 85 Ia|

d) Ush oIt ‘3 g7 Il
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110.  Consider the given information:

No supporters of 'party X', who knew Z and supported his campaign strategy, agreed for the
alliance with 'party Y’; but some of them had friends in 'party Y'.

With reference to the above information, which one among the following statements must be
true?

a) Some supporters of 'party Y' did not agree for the alliance with the “party X'.

b) There is at least one supporter of “party Y' who knew some supporters of 'party X' as a
friend.

c) No supporters of '‘party X' supported Z's campaign strategy.

d) No supporters of 'party X' knew Z.

m. ‘& B3 3feg diad o3 wHE YT 3
a) HY, AY
b) HY, Gz
c) HaF, HaFt
d) fog, Ay

112.  ‘F&q Bfenr Aer I &t = J?
a) WUIHSG I
b) I&A T farrdt
c) fan 3is T 5g3 29 I
d) fere At Barer

13. fooz mee ‘9 lg3d &% &df =gfenr ?
a) ¥Jd
b) UZFedd
c) 3I&Jd
d) fAgrEgg

1ML, “Ush Tgel ‘3 857 I’ T IS 5T
a) Ushf argemt ‘3 88 I&|
b) Ut egeht ‘3 8% Ji
c) U Tgemi ‘3 85 Ia|
d) Ushf argst ‘3 ga7 Il
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115.  HuUF A HIte™ fTIR wiads Htfenrt © fegara nwrger 37

a) HO A&<dl - Hg J<
b) WO &<=J - HO THET
c) WO THEJ - HO A&<dt
d) HUwI3=d - HU &<=d

6. HIHE It I AEd IH SosEmigr fegag no1 @ sad _ ReJde:
a) HAJfdE
b) UEUZ
c) 39
d) &3

117. ‘@37 T feduged A< J-

a) 99" b) I c) HarzT d) s

118.  H g &'ad € Hl T Yo'y YJ o< ge' J?
a) 3 T Hfimr
b) 3 T YISHH
c) I3d T HIg'E

d) 3 ©f fearant

119. '3 HEE T ANGIES AEC faa3m I7?
a) 30t b) 37 c) 9uF d) It
120. YJs fera™ 88t fagzr fidg Sarer 37

a) 31 b) feAHE  ¢) aHT d) Yo ST
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115.  HuUF A HIte™ fTIR wiads Htfenrt © fegara nwrger 37

a. WO A& - HO gg=d
b. WO &<=d — HO THgT
c. HOTHYEJ - HO Aa=dt
d. HUwI3=d - HU &<=d

6. HIHE It I AEd IH SosEmigr fegag no1 @ sad _ ReJde:
a. AJfJE
b. YTz
c. 39
d. &3

117. ‘@37 T feduged A< J-

a) 99" b) I c) HarzT d) s

118.  H g &ad S Hl T Yoy YJd o< ge' J?
a) 3 T Hfimr
b) 3 T YISHH
c) I3d T HIg'E

d) 3 Tf fearant

119. '3 HEE T ANGIES AEC faa3m I7?
a) 30t b) 37 c) 9uF d) It
120. YJs fera™ 88t fagzr fidg Sarer 37

a) 31 b) feAHE  ¢) aHT d) Yo ST
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